& S, &
& s & S

WARRANTY

Thank you for choosing a BYE BIKE Genuine Part. This part is the product of
BYE BIKE's use of proven engineering, exhaustive testing and continuous
striving for superior reliability, safety and performance.

Whenever service, repair or warranty work is undertaken the vehicle service
handbook must be made available to your dealer.

All new BYE BIKE Genuine Parts which are purchased via an Authorized dealer
are covered by the BYE BIKE warranty. Within the warranty period (24 months),
BYE BIKE warrants the new part to be free from any defect in materials used in
the manufacture and/or workmanship at the time of its manufacture. Any part
found to be defective during this period will be repaired or replaced at the
discretion of BYE BIKE by an authorised dealer.

Any part replaced under the warranty will be covered for the remaining period
of the warranty.

any parts replaced under warranty must be returned to BYE BIKE by the
dealer/distributor and will become the property of BYE BIKE.

BYE BIKE may, at its discretion make any repairs or replacement of defective
parts falling outside the warranty, but such work shall not be deemed to be any
admission of liability.

CONDITIONS AND EXCLUSIONS

1. The vehicle must not have been used for competition, misused, inadequately
maintained or incorrectly serviced or maintained.

2. The vehicle must have been serviced by an authorised dealer, at the
intervals specified in the BYE BIKE Owners Handbook and the service log
completed accordingly.

3. Defects caused by faulty adjustment or repairs and alterations are not
covered by this warranty.

4. Defects caused by the use of parts and accessories not authorised by BYE
BIKE are not covered by this warranty.

5. The warranty does not cover the cost of removal and replacement of parts
unless supplied as original equipment or recommended by BYE BIKE.

6. The warranty does not cover the cost of transportation of the vehicle to or
from the authorised dealer or expenses incurred while the vehicle is off the
road for warranty repairs.

7. Normal servicing and normal service items, such as spark plugs, oil and air
filters are covered by this warranty, but only if there is a manufacturing defect.
Similarly items which are expected to wear as part of their normal function
such as tyres, bulbs, chains, brake pads and clutch plates are only covered by
the warranty if there is a manufacturing defect.

8. Other items excluded from warranty are seats, luggage, paint, chrome,
polished aluminum items or trim deterioration caused by normal wear and tear
or lack of correct maintenance.

9. Batteries are warranted for 12 months from the original date of purchase.
After this 12 month period, the battery is excluded from the terms of this
warranty. This warranty is only valid for batteries commissioned by an
authorised BYE BIKE dealer

10. The warranty does not cover defects which have not been reported to an
authorised dealer within ten days of discovery of the defect.

11. The warranty does not cover vehicles which have been inadequately
lubricated, or for which the wrong fuel or lubricant has been used.

12. Should a warranty claim become necessary, BYE BIKE and its authorised
dealers shall not be liable for loss of use, i ience, lost time, i
losses or other incidental or consequential damages.

This warranty shall be interpreted in accordance with the locals laws and any
question arising from this warranty shall be subject to the jurisdiction of the
local courts.

3 S %
2 0/4,@ 6‘@

GARANTIA

Gracias por elegir un recambio original BYE BIKE. Esta parte es producto de la
ingenieria de BYE BIKE, pruebas exhaustivas y bisqueda constante de la mas
alta fiabilidad, seguridad y rendimiento.

Cada vez que se lleve a cabo cualquier reparacion o tarea de mantenimiento el
libro de mantenimiento del vehiculo debe estar a disposicion de su distribuidor.
Todas las piezas originales BYE BIKE que se adquieren a través de un
distribuidor autorizado estan cubiertas por la garantia. Dentro del periodo de
garantia (24 meses), BYE BIKE garantiza que la pieza esté libre de cualquier
defecto en los materiales utilizados en la fabricacion y/o mano de obra en el
momento de su fabricacion. Cualquier pieza que fuera defectuosa durante este
periodo serd reparada o reemplazada a la discrecion de BYE BIKE por un
distribuidor autorizado.

Cualquier pieza sustituida durante la vigencia de la garantia seguira siendo
garantizada durante el periodo restante de la garantia.

Las piezas reemplazadas en garantia deberdn ser devueltas a BYE BIKE por el
distribuidor y pasardn a ser propiedad de BYE BIKE.

BYE BIKE puede, a su discrecion, efectuar cualquier reparacion o reemplazo de
las piezas defectuosas fuera de la garantia, pero ese trabajo no se considerara
como una admision de responsabilidad.

CONDICIONES Y EXCLUSIONES

1. El vehiculo no debe haber sido utilizado en competicion, haber recibido un
mal uso 0 un mantenimiento defectuoso.

2. El vehiculo debe haber cumplido con el mantenimiento indicado en el
Manual del Usuario y haberse rellenado el registro de servicio.

3. Los defectos causados por un mal ajuste o por reparaciones y alteraciones
en el vehiculo no estan cubiertos por esta garantia.

4. Los defectos causados por el uso de piezas y accesorios no autorizados por
BYE BIKE no estan cubiertos por esta garantia.

5. La garantia no cubre el costo de accesorios y otras piezas, a menos que
fueran suministradas como equipo original o fueran recomendadas por BYE
BIKE.

6. La garantia no cubre los costes de transporte del vehiculo desde o hacia el
distribuidor o los gastos incurridos mientras el vehiculo esta fuera de servicio.
7. Piezas sujetas a desgaste tales como bujias, filtros, neumaticos, bombillas,
cadenas, zapatas/pastillas de freno... estan cubiertas por esta garantia
solamente en el caso de que se demuestre que existia un defecto de
fabricacion.

8. Otros elementos excluidos de la garantia son los asientos, equipaje, pintura,
cromo, articulos de aluminio pulido o deterioro causado por el desgaste
normal, rotura o falta de mantenimiento correcto.

9. Las baterias tienen una garantia de 12 meses a partir de la fecha original de
compra. Después de este periodo de 12 meses, la bateria esta excluido de los
términos de esta garantia. Esta garantia s6lo es vdlida para baterias
encargados por un distribuidor autorizado BYE BIKE.

10. La garantia no cubre los defectos que no hayan sido comunicados a un
distribuidor autorizado dentro de los diez dias del descubrimiento del defecto.
11. La garantia no cubre los vehiculos que han sido insuficientemente
lubricados, o para los que se ha utilizado el combustible o lubricante
equivocado.

12. BYE BIKE y sus distribuidores autorizados no seran responsables por la
pérdida de uso, inconvenientes, pérdida de tiempo, pérdidas comerciales u
otros dafios incidentales o consecuentes a una garantia.

Esta garantia deberd interpretarse de conformidad con las leyes locales y
cualquier problema que surja relacionado con esta garantia estard sujeta a la
jurisdiccion de los tribunales locales.

ASSEMBLY INSTRUCTIONS

BB01-49210-00-810
OO 0O

ANTI-THERT SYSTEM
SISTEMA ANTIRROBO

INSTRUCCIONES DE MONTAJE

(BYE BIKE )
@ WWW.BYEBIKE.COM

@ INFO@BYEBIKE.COM
TECNIGAS PARTS S.L. | Pol. Pla de la Font, Parc. 1. E-17832, CRESPIA (SPAIN)

® BYE BIKE

GENUINE PARTS
& ACCESSORIES




SUPPLIED PARTS

1. Anti-theft system

2, Handlebar linkage

3. Rear linkage

4. Rear bracket

5. Anti-teft system shock absorber support
6. ULS M6x16 Screw (2 units)

7. Self-locking M6 Nut with washer

8. Self-locking M10 Nut

9. Body guard

COMPONENTES SUMINISTRADOS

1. Sistema antirrobo

2. Enganche manillar

3. Enganche posterior

4. Pletina de soporte posterior

5. Soporte amortiguador

6. Tornillo ULS M6x16 (2 unidades)

7. Tuerca autoblocante con arandela M6
8. Tuerca autoblocante M10

9. Protector de la carroceria

& s

9% .©

ASSEMBLY INSTRUCTIONS

A. Cut the end of the left rubber handle using a cutter or
similar tool.

B. Assembly and insert the handlebar linkage (2) with
expansive plug inside the handlebar and tighten with an
Allen wrench.

C. Remove the top nut of the rear left shock-absorver,
introduce the anti-theft system shock absorver bracket (5)
and install the provided M10 nut (9).

D. Remove the rear carrier/handle - motorcycle body
screw (*) and nut (*).

E. Place the rear bracket (4) above the rear carrier/handle
bracket. Fix the installation using the original screw (*)
and nut (*) in the left hole and the provided M6x16 screw
(6) and M6 nut (7) into the center hole. If the rear
carrier/handle does not present the mounting hole, drill a
new hole (diameter 5mm) using the bracket as a guide.

F. Install the rear linkage (3) at the right hole of the
assembly described in section 5 using a M6x16 screw (6).
Fix it with threadlocker.

G. Install the anti-theft system (1) on the linkage provided
in the frame of the motorcycle. Introduce the anti-theft
system with it’s head pointing down and left. Turn it
clockwise.

H. Place the body guard (9) at the upper end of the lower
left cover to protect it from rubbing against the antiteft
system.

I. Ensure that the anti-theft system works correctly and
that it rests in the correct position when not used.

S .

N & S

INSTRUCCIONES DE MONTAJE

A. Cortar con un cutter o similar el extremo del pufio de
goma izquierdo.

B. Montar e introducir el enganche del manillar (2) con taco
expansivo en el interior del manillar y apretarlo con una llave
allen hasta que quede sujeto firmemente.

C. Retirar la tuerca superior de la suspension posterior
izquierda, introducir el soporte del sistema antirrobo (5) y
colocar la tuerca M10 (8).

D. Retirar el tornillo (*) y la tuerca (*) que une la parte
izquierda de la parrilla de transporte o asidero y la carroceria.

E. Colocar la pletina (4) por delante de la fijacion de la
parrilla/asidero. Fijar la instalacion mediante el tornillo (*) y la
tuerca (*) originales en el agujero izquierdo del montaje y el
tornillo M6x16 (6) y la tuerca M6 (7) en el agujero central del
montaje. En caso de que la parrilla/asidero no dispusiera del
agujero para el montaje de la pletina, perforar el agujero
utilizando un taladro (@ 5mm) y la pletina provista como guia.

F. Instalar el sistema de enganche posterior (3) en el extremo
derecho del montaje descrito en el punto 5. Apretarlo
firmemente con el tornillo M6x16 (6) y asegurar la fijacién
con una gota de fijador de roscas.

G. Introducir el sistema antirrobo (1) en el anclaje provisto
en el chasis de la motocicleta con la cabeza del sistema
antirrobo apuntando hacia abajo y a la izquierda. Girar el
sistema antirrobo en el sentido de las agujas del reloj para
dejarlo instalado.

H. Coloque el adhesivo protector de la carroceria (9) en el
extremo superior de la tapa inferior izquierda para protegerla
del roce del sistema antirrobo.

1. Compruebe que el sistema antirrobo funciona
correctamente y que descansa en la posicion adecuada
cuando no es usado.




